Proyecto Guao

AUTOEVALUACION

Resta de Vectores
OPCIONES DE

PROBLEMA RESPUESTA ORIENTACIONES
Dados los vectores d—b=(54) NCORRECTO
d=(23); b=(41) |
Halla:
s 7 777
a-b d— b=(-22) _“({,.kz >
i—b=(3-3) 2 el
d—b=(23) @
Dados los vectores i—b=(-12) -
i=(41); b=(21) GRROR
Halla: o
a—b i— b=(61) e
C_i — B = (2,0) _v
momee 3 NORET?
Dados los vectores . (/77t/$>
d=(-41); b=(2,-3) a— b= (=64 W /'
Ha”a. I‘m(aclonos
- b B
i-b=(14) x ,NCORRECTO
i—b=(1,-2) ﬁ
d—b=(4-2)
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Dados los vectores 1 G6-b=(22) @\
di=(42); b=(1,-2)

Halla:
a—b 2 G- b=(34
}'«\/

3 @-b=(51) R

4 G- b=(20) x JNCORRECTO
Dados los vectores 1 d—b=(-10) x JNCORRECTO
i=32); b=(-3-2)
Halla:
a— b 2

i— b= (64) W '§2§>'

Felicitaoacionaes=s

3 d—b=(5-3) R

4 - b=(-24 é‘f‘ﬁ\
Dados los vectores 1 G- b=(-22) w
d=(12); b=(-64)

Halla: 2 F_F—(7— A
S a— b= (7,-2) Y [;ZE>'

Felicitacionaes=s

3 d—B=(1,7) .

RESPULLTA INCORRECTA
TN PALD DYTRA VES

4 da—-b=(3-3) ;;g;“ -‘
Dados los vectores 1 G6-b=(,-1) .
di=(3,-2); b=(=61)
Ha | Ia : .lsl'ul"'l !“:?.K‘C'A

o
a-b
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2 d-b=(-10) &‘
NN

Dados los vectores 1 e
S

ﬁ;éz:'_Z); b=(-4-1) a— E — (—6,3)
i— b
2 i—b=(6-1) ,/
I~
3 d—b=(-43) e )

RESPULLSTA INCORRECTA
TN PALD DTRA VE

Dados los vectores 1 G- b=(2-3) o
di=(3,-5); b=(-42) S gl

;ki”%: 2 d-b=(-14) W

Felicitacionaes=s

Dados los vectores 1 G— b=(-4-3)
d=(0,-5); b=(42) .

.
Halla " RESPULLTA INCORRECTA
T PALD DTRA VE

i—b .
2 G- b=(-4-7) -
3 i—b=(-42) R
4 @+ b=(12) O INCORRECT®
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